6. cviceni - vysledky

K = konverguje, D = diverguje, AK = absolutné konverguje

Priklad 1.
(a) K (¢c) D
(b) K (d) K
Priklad 2.
(a) AK (c) AK
AK, |z| <1,
D, |z|>1, (d) K
(b) .
K, z =1,
D, z=-1. (e) K
Priklad 3.
(a) D (K, g<2peo),
(m) K, ¢<2,p<0,
(C)K K7 p227p207p_q<_17
(K, ¢=>2,p<0.
(e) K
AK, |z| <1,
KJ T = 07 (n) AK, |l" > 1,
(f) D7 T > 07 LD, r = =+1.
D, z<0.
AK, |z| <1,
(g) K pro viechna z € R (0) {K, =z=1,
(i) K AK, o <1,
. (p) (K, z==1,
() K D, |z > 1.
(k) D
(@) AK, a<?2
1) D YAp, as2
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Priklad 4.
(a
(

Pravda.

(c
(d) Pravda.

Priklad 5.

(a) Pravda.

(b) Nepravda.

(c) Nepravda.

) Nepravda.
b) Nepravda.
)

)

(e) Nepravda.
(f) Nepravda.

(g) Nepravda.

(d) Nepravda.

(e) Nepravda.
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